
qm=;+= jftfj/)f tyf ljkQ Aoj:yfkg k|:tfljt /sd s}lkmot

   1  ljkQ Aoj:yfkgdf af(L, k|sf]k, cfunfuL ePsf] lkl*tnfO{ cg'bfg :j?k 
lbg]      400,000.00 

gu/ :tl/o

 hDdf      400,000.00 
1 jftfj/)f ;+/If)f 100,000.00     

hDdf 100,000.00     
1 ljkQ Aoj:yfkg sf]ifdf ;xof]u j*f:T/df 50,000.00      
2 pko'Qm ;*s lsgf/f bfof+ afof+ j[Iff/f]k)f 50,000.00      
3 jftfj/)f ;+/If)f 100,000.00     hu]*f sf]if

hDdf 200,000.00     
1 cfktsfnL of]hgf tyf ;*s dd{t ;Def/ sfo{ 100,000.00     

hDdf 100,000.00     
1 ;To gf/fo)fsf] v]t lg/ (+u|f vf]N;L lgdf{)f 200,000.00     
2 b}ljs k|sf]kaf^ cfktsflng of]hgf ;*s dd{t ;'wf/ sfo{ 280,000.00    hu]*f sf]if

hDdf 480,000.00    
1 jftfj/)f ;+/If)f tyf ljkt Aoj:yfkg 100,000.00     
2 ;*s dd{t ;Def/ cfktsflng 200,000.00     

hDdf 300,000.00     
1 ;fOsn vl/b / sDKo'^/ lk|G^/ vl/b 40,000.00      
2 cfktsflng of]hgf tyf ;*s dd{t ;Def/ 100,000.00     
3 ;fd'bflos dWo:y stf{sf] ;+of]hsnfO{ dfl;s kfl/>dLs 60,000.00      
4 jftfj/)f tyf ljkQ Aoj:yfkg 100,000.00     hu]*f sf]if

hDdf 300,000.00     
1 ljkQ Aoj:yfkg 50,000.00      j*f g+= 8
2 jftfj/)f ;+/If)f 100,000.00     

hDdf 150,000.00     
;Dk')f{ hDdf 2,030,000.00   

j*f g+= 5

j*f g+= 6

j*f g+= 4

xl/k'/ gu/kflnsf
jg tyf e';+/If)f, jftfj/)f ;+/If)f, hnfwf/ If]q ;+/If)f, hnpTkGg k|sf]k lgoGq)f -t^jGw_ ljkb Aoj:yfkg tyf 
cGo sfo{qmdx?

j*f g+= 2

j*f g+= 3

j*f g+= 1


